BUS 310, Exam #2A, Fall 2018 Name K

Section

Instructions: This exam is in two parts: Part | is to be completed part
posted on Blackboard for Part | and you will answer questions about
to be completed entirely in class. You may not use cell phones, and
resources you are specifically directed to use. You may access your d
Blackboard. You may access the data files posted to Blackboard for t
using the data file that matches the exam version you are given.

Part I: At Home

This part was completed at home. You can upload the Excel file for P
Blackboard for use during the Exam period. However, this submissio
it must be submitted to the “to be graded folder” to receive credit.

Part Il: In Class

1. Use the work done at home to answer the Part | questions.

2. Open the file from the in-class portion of the final posted on
version of the exam you have. This is Exam A.

3. Answer the questions corresponding to the data file, and any
required.

4. When you have finished answering questions on the exam, a
recorded on the paper test for grading, upload both the take

at home using the materials

at work in class below; Part Il is

u may only access internet

a file for Part | of the exam in
Exam part Il. Be sure you are

t | to the Part | folder in
ill not be graded in this location,

ackboard that corresponds to the
dditional calculation in Excel

all your answers have been
me Excel file and the in-class

Excel file to the same in-class Exam folder in Blackboard for g
to the correct folder will be graded. (If in doubt, put all work
5. Turninyour paper copy of the exam to your instructor.
6. Enjoy your break!

ding. Only those files submitted
one Excel file.)



Part I:

The following problems refer to problem #1 of Part I:

1. Reportonthe resiults of your ANOVA test of the types of Exp

on sales. State your null and alternative hypotheses, your te
conclusion of your test. Give a sentence to explain the mean
understandable by a lay person. (10 points)
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Examine your boxplots for Experience Training. Is the equal
satisfied? Why or why not? (6 points)

ience Training and their influence
statistic and P-value, and the
g of the test in context
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Describe the results of your two-sample t-test. State the nullfind alternative hypotheses and
interpret the result in the context of the problem. Compare

boxplots. Do they appear to agree? (8 points)
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Based or(zg he resm!JIts of your tests, and the box plots, which trflining method or presentation

type appears to have the biggest effect on sales? Explain. Hofly would a sales manager
incorporate this ihformation into their management strategy
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The follow questions refer to problems #2 from Part I:

5. Report on the findings of your y?-test of independence. Statfl the null and alternative

hypotheses, you |test statistic and P-value, and the conclusiofif. Give a sentence that

summarizes the rpeaning of the test that a lay person can ung rsta(\d. (10 points)
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6. Referring back to your pivot table of the data, report the val
Region=West, and the value of the expected count for that sz
calculated that value. (6 points)
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The following questions qefer to problem #3 from Part I:

xplain. [Hint: this question is not

7. Is the heating bill dependent or independent of home type?
owledge of the data and the real

about a specific I?ypothesis test. This question is about your
world.] (5 points)
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8. Reportonthere
hypotheses, the

in a single sentence that can explain the results in context tof

statistics. (10 po
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9. State your best-f
option. Report {
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10. What proportion
This question sh
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refer to problem #4 from Part I:

fit final regression equation and explain youfreasoning as to why you chose this
he R? value for the equation you choose. (40 points)
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ould be consistent with your previous result§i (6 points)
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11. Using your final model reported above, interpret the value ‘i
context of the problem. (8 points)
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12. Using your final model reported above, predict the mainten;
12,000 miles and is 6 years old, if the trend continues. (6 Pg

13. Create a scatterplot of Age of Truck vs. Miles Driven. Toget
provide at least two possible problems with the data. Arei

dependent? Are the graphs nonlinear? Are there any outlie
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Calculations in Excel: (1) 30 points, (2) 25 points, (3) 25 points, (4) 3

nce cost for a truck that drives

ler with your other scatterplots,
lependent variables actually
s? (8 points)




Part Jj:

14. Included below i
on the graph, ¢
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17. The linear trend
number of rider
sense? Why or
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Identify at least two issues that the residual plot highlights fo
Explain what features of the graph are relat

lreas

these residuals.
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19. The regression output for the multiple regression model pred
ext page. Use this information to answer t
tandard error? Interpret the meaning of thi

is shown on the n
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line for this graph is y = —170.83x + 1208
s, if the trend continues, if parking rates risefto $8.00. Does this value make
why not? (6 points)
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to each issue. (8 points)
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ting ridership from four variables
questions that follow.
alue in context? (6 points)
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b. Statea95%

[
confidence interval for the coefficient of Pq ulation. (6 points)

¢.  Conduct a hypothesis test on the coefficient of Income ifi the equation. State the

d. Interpret th

e.

f.

hypothesis, test statistic and P-value, and interpret the

problem. (8
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Write the equation for the multiple regression model. (@points)
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l, _c _pG-p) _ ny=1)s2+(n,-1)s?
Standard errors: 0 = 7= o5 = J = Spooled = \/ g
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. - s . p(1-p)
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Test statistics: |

. _ Xl _
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Upload your completed Excel files to the Exam #2 submissio
your completed paper exam to your instructor. You may no
submitted.

box in Blackboard, and submit
odify anything once the exam is




